@ (x-2)2%2=x>-4x+4
® (x+3y)? = x% + 6xy + 9?
@ (x-2)2%2=x>-2x+4

® (x—2y)2 = x? — dxy + 4y?



ANgE AL2
@ x*-3x-6
® x2+6x+9

® x*-3x+6



3.

x2+y?—4-2xy 9

D x-y-2

@ x-y+4

o

=
N

7

it
4
30

@ x-y-4

® x+y+2

rr

N

rlo

® x+y-2



@ (x—y+D(x+y-1)

® (x+y+1)(x-y-1)

@ (x+y+1)(x+y-1)

@ (x-y-1)(x+y-1)



x? —y? 4+ 8x 4 4y + 12

O (x+y+3)(x-y+4) @ (x+y+4)(x-y+3)
® (x+y+2)(x+y+6) @ (x+y-2)(x—y-6)

® (x+y+2)(x—y+6)



6. TFFA x? —dxy + 3y? - Tx + 5y — 8 & Q1= olopH?

D (x+3y-8)(x+y+1) @ (x=3y+8)(x+y+1)
® (x+3y-8)(x—y-1) @ (x-3y+2)(x—y+4)

® (x-3y-8)(x—-y+1)



© B o4t atab-2 2 % 2 o]},
© A 9 B9 F5%l A4 a? o|th

@ 0O ® 0,0

©a
® ©

® 6,0,

©



8.  xXPy—y-2+42x? 9 ATt opd ALY

D x-1 @ x+1 @ x?-1

@ y-2 ® y+2



(e,

©
-

—y")? 9]

8,y=3- V8o (x+y)*(

x=3+

9.

@ 2 3 3 @ 4 ® 5

D1



a+ad>-3a-3

10. a2=3+2+2 ¥ 0,
a-+1

of grg o2

D 22 @ 2+ 2 ® 2v2-1
@ 442 B 442-2



